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1. A S 2R X] A o] 2 = 199,609 177,729 21,880
1. aGH EE AR AT 199,609 177,729 21,880
1. uSH SHEAAYF 199,609 177,729 21,880
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X =3 SRS 9
(BH) 3| AAF ofH] B 4 ¢ 1,010,000 1,010,000
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ql =
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= AR 390,008 + 13l = 3,900,000
2] & 13 7:1 L2 7lo o] 3=
() A Fushy s Qe 1,600,000
ZH](FA™) ¢ 1,600,0009 = 13 =
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RREE Eal= A o EARC R 4,200 2,520 1,680 1,680,000
pie e i ST | R R 1.680.00091 * 131 =
2. 245 7,510 10,872 -3,362
1.8t R Re4=9l 6,960 10,322 -3,362
1.5p0) R t4el 6,960 10,322 -3,362
1.5 6,960 10,322 -3,362
1.5 5,823 8,774 -2.951| A YFAH] 1 -2,652,0009)= -2.,652,000
T3 WARTAE] 1 -299,0009)= -299,000
2. 9832 1,137 1,548 411|328 9-Frdls © -411,0009= -411,000
3. 718 3,166 3,166 0
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